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1 one inch + \hoffset 2 one inch + \voffset

3 \oddsidemargin = 0pt 4 \topmargin = 4pt

5 \headheight = 20pt 6 \headsep = 18pt

7 \textheight = 711pt 8 \textwidth = 512pt

9 \marginparsep = 18pt 10 \marginparwidth = 18pt

11 \footskip = 28pt \marginparpush = 16pt (not shown)

\hoffset = 0pt \voffset = 0pt

\paperwidth = 597pt \paperheight = 845pt



1pt =
1

72.27
inch, 1inch = 25.4mm

より
512pt× 25.4

72.27
= 179.947mm, 711pt× 25.4

72.27
= 249.8879mm,

以下にソースを示す。
\documentclass{jsarticle}

\usepackage{layout}

\setlength{\textwidth}{18cm}

\setlength{\textheight}{25cm}

\begin{document}

\layout

\[

1 \textrm{pt}=\frac{1}{72.27}\textrm{inch},\quad

1 \textrm{inch}=25.4\textrm{mm}

\]

より
\[

512 \textrm{pt}\times \frac{25.4}{72.27}=179.947 \textrm{mm},\quad

711 \textrm{pt}\times \frac{25.4}{72.27}=249.8879 \textrm{mm},

\]

以下にソースを示す。

\hrule

\end{document}
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